est. 1931

Assembly Instructions >

Corporation C Raised Shelves to Wood Top >

Side mounting raised shelf to wood top.
Hardware required: 4 truss bolts 3/4” long. 2 tap bolts 3/4” long,
6 hex nuts, 4 lag bolts, 12 washers. When mounting shelf ends,
be sure the side of the shelf end with the longest bend faces rear
of bench. Line up right shelf end with bottom and back edges
flush with bottom and back edges of bench top. Mark holes on
side of work surface for drilling. Repeat for other side. Drill holes
1 1/4” deep on both sides of work surface. Drill 9/32” holes for
maple tops, 1/4” holes for all other wood tops. Using lag bolts
and washers, attach ends to work surface. Place raised shelf top
over ends with holes to rear. Secure top to ends using using
hardware as shown. Tighten securely using hex nuts and washers
provided.

[shelf top]

3/4" truss bOItS—l
¥

@ ~——— Jaysem

jjoq dey ,p/g —— é

[shelf end]

[wood top]

1109 bey ,8/¢

Top mounted raised shelf to wood top.

Hardware required: 4 truss bolts 3/4” long, 2 tap bolts 3/4” long, 6
hex nuts, 4 lag bolts, 12 washers. When mounting shelf ends, be
sure the side of shelf end with longest bend faces rear of bench.
Line up right shelf end with side and back edges flush with side
and rear edges of bench top. Mark holes on top of work surface
for drilling. Repeat for other side. Drill holes 1” deep for 1 1/4”
thick tops, 1 1/4” deep for 1 3/4” thick tops. Drill 9/32” holes for

; maple tops, 1/4” holes for all other wood tops. Using lag bolts and
3/8" lag bolt%% [shelf end] washers, attach shelf ends to work surface. Attach raised shelf top

w as described above.

_____

[shelf top]

@ ~——— Jaysem

jjoq dey ,p/g —— %

[wood top]

N

Stackbin Corporation | 29 Powder Hill Road, Lincoln Rl 02865-4424
tf: 800.333.1603 | ph:401.333.1600 | fx:401.333.1952 | www.stackbin.com



est. 1931

Assembly Instructions >

Corporation

C Raised Shelves to Steel Top >

[shelf top]

B

[steel top]

3/4" truss bolts —l

[shelf end]

@ ~—— Jaysem

jloq dey p/§ —— %

Mounting raised shelf to steel top.

Hardware required: 8 truss bolts 3/4” long, 2 tap bolts 3/4” long,
10 hex nuts, 12 washers. When mounting raised shelf ends, be
sure the side of the raised shelf end with longest bend faces rear
of bench. Line up bottom holes in shelf end with holes on side of
steel top as shown below. Fasten shelf end with truss bolts, nuts,
and washers and tighten securely. Repeat procedure for the other
side. Place raised shelf top over ends making sure that back bend
of top with holes in it faces rear of bench. Secure top to ends as
shown left using hardware provided. Tighten all hardware securely
using hex nuts and washers.

6 ~— }|oq ssniy /¢

N

Stackbin Corporation | 29 Powder Hill Road, Lincoln Rl 02865-4424
tf: 800.333.1603 | ph:401.333.1600 | fx:401.333.1952 | www.stackbin.com



est. 1931

Assembly Instructions >

Corporation @p Mount or Stacked Raised Shel@

~

<
slotted truss bolts &:;_
13
[shelf top] ﬁ {
w
=
1
°
o
o
slotted
truss bolts —— ﬁ
‘ [shelf end]
,,,,,,, <
-------- )
‘‘‘‘‘‘‘‘‘ 5
Lt ]
[shelf top] < e {
w
=
5
o
o
o
g
[shelf end] g
g
=
o
: - I
[shop desk top] QO

Stackbin Corporation | 29 Powder Hill Road, Lincoln Rl 02865-4424
tf: 800.333.1603 | ph:401.333.1600 | fx:401.333.1952 | www.stackbin.com



